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The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE / O Level Sociology 
0495 / 2251 and to show how different levels of candidates’ performance (high, middle and low) relate to the subject’s 
curriculum and assessment objectives. 

In this booklet, candidate responses have been chosen from the November 2020 exam series to exemplify a range of 
answers. 

For each question, the response is annotated with a clear explanation of where and why marks were awarded or 
omitted.  This is followed by examiner comments on how the answer could have been improved. In this way, it is 
possible for you to understand what candidates have done to gain their marks and what they could do to improve their 
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers 
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some 
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are: 

2251 November 2020 Question Paper 22

2251 November 2020 Paper 22 Mark Scheme

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support

Introduction

http://www.cambridgeinternational.org/support
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How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for 
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in 
the right-hand column are the examiner comments. 

Example Candidate Response – Question 1, High Examiner comments

How the candidate could have improved their answer
• (a) It was not clear what the candidate meant when they said ‘…an already married person…’ therefore this was 

not credited. However, some partial understanding of the term in the question was shown when the candidate said 
‘…starts a new family with a different partner’. This was enough to award 1 mark.

• (b) The candidate did not show understanding of what was meant by a demographic trend and how this can affect 
family life therefore this response could not be credited.

Common mistakes candidates made in this question
• (a) Candidates needed to include two separate elements in their definition. Examples were a really useful way of

adding a second element to an answer and should be encouraged. Some responses didn’t make clear any links to
the formation of a new family form and presented only partial definitions, meaning reduced marks.

• (b) This part of the question needed two distinctly different points – candidates should separate these and label
them clearly. Some answers were insufficiently developed, so the candidate was unable to achieve full marks even
although it was evident that they possessed some relevant knowledge. A number of candidates did not seem to
understand the term ‘demographic trends’. Several candidates did mention birth/death rates but either did not then
give a specific trend or link to how it affected family life.

This section explains how the candidate could 
have improved each answer. This helps you to 
interpret the standard of Cambridge exams and 
helps your learners to refine their exam technique.

Lists the common mistakes candidates made 
in answering each question. This will help your 
learners to avoid these mistakes and give them 
the best chance of achieving the available marks.

Often candidates were not awarded 
marks because they misread or 
misinterpreted the questions. 

Answers are by real candidates in exam conditions. 
These show you the types of answers for each level.
Discuss and analyse the answers with your learners in 
the classroom to improve their skills.

Examiner comments are 
alongside the answers. These 
explain where and why marks 
were awarded. This helps you 
to interpret the standard of 
Cambridge exams so you can 
help your learners to refine 
their exam technique.
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Question 1: Family

Example Candidate Response – high Examiner comments

Page 4 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86215...

The candidate provides a very 
clear and accurate definition of the 
reconstituted family.

Here, the candidate provides 
an excellent second element to 
the definition through the idea of 
creating a new family, ‘making 
new relations’.
Mark for (a) = 2 out of 2

The demographic trend is 
clearly identified as ‘ageing 
population’.

The candidate carefully links 
the demographic trend to the 
family and how it affects family 
life.

Good use of signal words 
makes this easy to mark, e.g. 
‘Secondly...’.

The candidate specifically 
identifies, describes and links the 
second trend to family life with the 
clear point made about smaller 
family sizes.
Mark for (b) = 4 out of 4

The beginning section of this 
answer is not well focused on 
the question as it talks about 
changing roles rather than 
changing functions.
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Example Candidate Response – high, continued Examiner comments

Page 6 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86215...

The candidate correctly picks 
out ‘socialisation’ as a function 
that has changed in society as this 
can now be performed by schools 
and nurseries rather than the 
family.

The candidate makes a good 
link to feminism.

Another relevant point is well 
made here about the function 
of childcare once performed by 
housewives now being taken over 
by nannies and childcare centres.

Whilst ‘social control’ could 
clearly have been a relevant 
point when discussing changing 
family functions, the candidate’s 
explanation here is very vague.

Good use of the signal 
word ‘lastly’ leads into another 
creditable point about the welfare 
state and old age homes removing 
the burden of elderly care from the 
family.

As well as making three 
different points within the answer, 
the candidate also engages 
sociologically through conceptual 
terms such as feminism, 
socialisation, burden, welfare 
state, etc.
Mark for (c) = 6 out of 6

The candidate clearly identifies 
the change to joint conjugal roles 
and explains it through the idea of 
changing gender expectations and 
working women.

The candidate makes a link to 
‘feminism’.
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Example Candidate Response – high, continued Examiner comments

Page 8 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86215...

Whilst very well written and 
explained conceptually (e.g. 
breadwinner role, dual-worker 
families), this second paragraph 
discusses very similar ideas to the 
first. It is, therefore, credited as 
one very well-developed point.

This is a distinctly different 
point about the decline of the 
extended family leading to less 
pressure on individuals when 
it comes to the roles that they 
perform. This is all well explained 
in terms of why there are now 
fewer traditionally segregated 
conjugal roles.

The candidate uses some 
really good sociological terms 
and concepts throughout the 
answer, e.g. symmetry, socially 
acceptable, etc. These are all duly 
rewarded and are the reason why 
the answer scores at the top of 
Band 2.
Mark for (d) = 6 out of 8

This introduction does a good 
job in terms of ‘setting the scene’ 
for the essay and engaging with 
relevant theory.

 The candidate clearly 
identifies domestic abuse as the 
first negative aspect of family life 
to be discussed.
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Example Candidate Response – high, continued Examiner comments

Page 10 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86215...

The abuse paragraph is clearly 
and accurately explained and 
links well to theory (feminism). 
Conceptual engagement is 
similarly good, e.g. patriarchy.

Child abuse is successfully 
marked out as a different point 
to the first and is well evidenced 
and discussed throughout the 
paragraph.

Different discrete examples 
of child abuse being used to 
demonstrate the negativity of 
family life. There is a real sense of 
depth to this point.

The candidate makes well-
chosen use of New Right theory 
here to make the third ‘for’ point.

This paragraph is packed full 
of relevant sociological concepts 
and theory which all really add 
to the quality of the debate, e.g. 
breadwinner, Marxism, inadequate 
socialisation, etc.
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Example Candidate Response – high, continued Examiner comments

Page 12 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86215...

The use of ‘however’ here 
clearly marks out that the 
evaluation is beginning.

Functionalist theory and some 
associated sociological concepts 
are used well here to demonstrate 
positive aspects of family life.

There are actually quite a 
few different positive points 
made about the family here, but 
unfortunately, the candidate lists 
them all as one. Nonetheless, this 
is still useful evaluation.

 A clear conclusion is provided 
for the answer which is good 
to see. It is, however, rather 
colloquial and descriptive and 
doesn’t really make a critical 
judgement.
Mark for (e) = 13 out of 15

Total mark awarded =  
31 out of 35
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•	 How the candidate could have improved their answer
•	 (a) This answer easily fulfilled the requirements for 2 marks because it showed accurate knowledge of the 

‘reconstituted family’ and had two clear elements to the answer (definition and making new relations). There was a 
lot written for just 2 marks.

•	 (b) Here, the candidate identified two relevant demographic trends (ageing population and infant mortality) and 
linked both to the family. The candidate could have balanced the two parts of the answer better.

•	 (c) The candidate was awarded 6 marks here as there were three creditable points about changing family functions 
that also engaged and explained sociologically/conceptually. However, the examiner had to do quite a lot of work 
to identify these due to the other points included that were not specifically about changing family functions. Better 
focus on the question would have improved the response.

•	 (d) Because the first two paragraphs discussed such similar ideas, they were amalgamated for the purpose of 
awarding marks. There was not enough range in the answer to reach the top band of the mark scheme. To improve 
the response, the answer needed to contain at least three developed and distinctly different points.

•	 (e) This was a good example of a top band answer. The ‘for’ side was particularly well developed – very good 
range and conceptual throughout. The candidate merged child abuse and neglect into one paragraph but these 
were credited as two different ‘for’ points (as per the mark scheme). To improve the response, the candidate should 
have made these more distinct and separate as without the examiner crediting them separately, there would not 
have been the required range in the answer to reach top band (minimum of six distinct points). The evaluation was 
less strong and this would have been a way to improve the answer and the mark awarded (better balance could 
have been aimed for). A more critical conclusion could also have been included.
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Example Candidate Response – middle Examiner comments

Page 4 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86174...

The candidate recognises 
here that a reconstituted family is 
something newly created.

This idea of there being a ‘new 
marriage’, reinforces the point 
about a new family form being 
made.

The candidate provides a 
synonym for a ‘reconstituted 
family’ and thus demonstrates 
their understanding of what it is.
Mark for (a) = 2 out of 2

The divorce rate is not a 
demographic trend and so is not 
credited.

The first identified point is that 
fewer families are having children, 
but this point is not developed.

The second identified point is 
that more children are being born 
outside marriage. This has not 
been described.
Mark for (b) = 2 out of 4

This first paragraph indicates 
that the candidate is aware what 
is meant by ‘family functions’.

The second paragraph 
identifies a clear change in 
family functions – that these are 
now being taken over by other 
institutions.

Clear examples are provided 
of day care centres, school and 
nursing homes.
Mark for (c) = 3 out of 6
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Example Candidate Response – middle, continued Examiner comments

Page 4 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86174...

Page 6 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86174...

This first paragraph of the 
response is descriptive and not 
focused on why the changes 
have come about. There is 
nothing wrong in including such 
information, but it isn’t the best 
use of time in exam conditions.

The candidate clearly identifies 
the rise of feminism as the first 
reason for the change in conjugal 
roles.

This paragraph unpacks and 
explains the feminism point and 
links it to why conjugal roles have 
changed. This is done through 
consideration of both females and 
males.

The answer is sociological and 
conceptual throughout, e.g. dual 
class families, status, conflict, etc.
Mark for (d) = 3 out of 8

The introduction sets the scene 
for the essay nicely.

Abuse is the first point to agree 
with the claim in the question and 
demonstrate how family life can 
be negative for its members.

10

11

12

13

14

15

10

11

12

13

14

15



Example Candidate Responses - Paper 2

14

Example Candidate Response – middle, continued Examiner comments

Page 8 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86174...

The point on abuse is 
developed well, although 
is descriptive in tone.

Good use of the signal word 
‘However’ to indicate evaluation.

Good use of relevant theory 
(functionalism and the new right) 
to inform the discussion.

 This paragraph demonstrates 
how family life can be positive 
rather than negative. It is 
sociological in focus and uses 
relevant terms and concepts well.

 The conclusion ends the essay 
and is well focused on what the 
candidate discusses and clearly 
makes a judgement upon the 
claim in the question.
Mark for (e) = 7 out of 15

Total mark awarded = 
17 out of 35
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How the candidate could have improved their answer
• (a) Despite having three clear elements to the answer here, the candidate’s style was quite disjointed with the use 

of short sentences. It would have been better to link ideas of new marriage, new family and step family together 
more cohesively.

• (b) The first section of the candidate’s answer was not creditable as it was not about demographic trends. The 
second section contained two creditable points (both are in the mark scheme). Neither point was described, 
however. Therefore, to improve the mark, these two points needed to have been developed and linked to the 
effects that they would have on family life.

• (c) The candidate understood what was meant by ‘family functions’ and was able to provide some clear examples 
of other institutions taking over functions that the family once performed. This was all duly credited. To improve the 
mark awarded, there needed to be a greater range of points made and less simplicity to the discussion.

• (d) The candidate produced one well-developed point on feminism and discussed why this has led to a decline in 
traditional gender roles. This answer therefore lacked the required range. There was also a descriptive first 
paragraph that did not focus on the question of why the changes had occurred. More analysis and explanation 
were therefore also required, alongside relevant sociological evidence.

• (e) The answer was sociological in focus rather than common-sense based but there was a real lack of range to it 
which was reflected in the mark. There was only one developed ‘for’ and one developed ‘against’ point made. 
Creditable points were made, e.g. dysfunctional families being rare (against point) and empty-shell marriages, but 
unfortunately these were not explained and developed. More points needed to be made and developed with 
sociological evidence.
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Example Candidate Response – low Examiner comments

Page 4 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86174...

The phrase ‘already married 
person’ is inaccurate and cannot 
be credited. This would not be a 
reconstituted family as a break-up 
of the previous family would be 
necessary.

The idea of starting a 
new family can be credited, 
however, and demonstrates 
partial knowledge of the term 
‘reconstituted family’.
Mark for (a) = 1 out of 2

Neither segregated conjugal 
roles nor empty-shell marriages 
are demographic trends therefore 
there is nothing here to credit.
Mark for (b) = 0 out of 4

 Industrialisation is not an 
example of how family functions 
are changing and therefore cannot 
be credited.

The answer is very confused 
and does not focus on changing 
family functions.
Mark for (c) = 0 out of 6

There is a hint here that 
industrialisation was important in 
the decline of traditional roles.

The candidate also states that 
different types of families have 
different roles.

The lesser importance of 
culture is mentioned as another 
reason for the changing family 
roles.
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Example Candidate Response – low, continued Examiner comments

Page 6 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86174...

Page 6 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86174...

Page 8 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86174...

This last point about 
individualism is very vague and 
not linked to the question about 
changing roles.
Mark for (d) = 2 out of 8

 ‘Empty shell marriage’ is the 
first point made about negative 
family life. This is a good, 
sociological point.

Divorce is raised as a point 
here but it is not developed.

 The candidate makes a point 
made here that family life can be 
negative for children. However, 
this isn’t evidenced or explained.

 There seems to be an 
implicit point here about women 
particularly suffering from 
negativity in family life. This is very 
unclear.

Various forms of abuse are 
mentioned here that can be 
credited as negative parts of 
family life.

A point about non-married 
families being negative is made 
here.

There is a hint here to the 
evaluation (against) side of the 
debate with the admission that not 
all families are negative for the 
individuals involved.
Mark for (e) = 5 out of 15

Total mark awarded =  
8 out of 35
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How the candidate could have improved their answer
•	 (a) It was not clear what the candidate meant when they said ‘…an already married person…’ therefore this was 

not credited. However, some partial understanding of the term in the question was shown when the candidate said 
‘…starts a new family with a different partner’. This was enough to award 1 mark.

•	 (b) The candidate did not show understanding of what was meant by a demographic trend and how this can affect 
family life therefore this response could not be credited.

•	 (c) The candidate seemed to be trying to explain why families had changed (e.g. industrialisation) but this was not 
what was required in the question.  The functions of the family needed to be focused on explicitly (reproduction, 
socialisation, etc) with clear points made about how they are changing.

•	 (d) Question ‘d’ was an explanation question which therefore required linked knowledge in order to make and 
substantiate points. The candidate made some points that were relevant but merely stated these – they were not 
explained. To improve the quality, there needed to be development of points, reasons why, evidence and linkage.

•	 (e) The candidate made some valid points to show that family life can be negative. However, these were not 
developed and were rather list-like. There needed to be a better explanation of the points made with evidence to 
substantiate them sociologically. Right at the end of the answer, there was a hint towards evaluation but this was 
common-sense and was merely stated, not discussed. No conclusion was provided for the essay either. This is an 
expectation in the 15-mark questions where a judgement is required.

Common mistakes candidates made in this question
•	 (a) Candidates did not always include two separate elements in their definition. Examples were a really useful way 

of adding a second element to an answer and should be encouraged. Some responses didn’t make any clear any 
links to the formation of a new family form and presented only partial definitions, meaning reduced marks.

•	 (b) This part of the question needed two distinctly different points – candidates should separate these and label 
them clearly. Some answers were insufficiently developed, so the candidate was unable to achieve full marks even 
although it was evident that they possessed some relevant knowledge. A number of candidates did not seem to 
understand the term ‘demographic trends’. Several candidates did mention birth/death rates but either did not then 
give a specific trend or link to how it affected family life.

•	 (c) Candidates needed to make sure there were more than two sociological points made, evidenced and 
developed. Some candidates lacked focus on the specifics of the question as they wrote more about ‘changes in 
gender roles’ than ‘changing functions’. Whilst some of these answers did provide links to family functions, others 
did not so were awarded low or no marks.

•	 (d) Candidates should adopt the same approach as for (c) and develop ideas further, consider more range and 
ensure concepts and theories are used appropriately. Concepts and explicit sociological engagement tended to 
be the key differentiators between (c) and (d). Weaker answers tended to write descriptively about traditional roles 
rather than discussing the reasons for their changes.

•	 (e) Not all candidates organised their answers into paragraphs and developed each idea fully using theory, studies, 
examples and/or concepts wherever relevant. They should aim for three points ‘for’ and three ‘against’ the claim in 
the question. There also needed to be a well-focused conclusion making a supported judgement.
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Question 2: Education

Example Candidate Response – high Examiner comments

Page 16 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86215...

References to positive 
sanctions are not creditable in this 
answer.

The candidate recognises that 
sanctions are ‘punishments’ (1 
mark) and that these are given out 
when a person does not conform 
to socially acceptable behaviour 
(2 marks).
Mark for (a) = 2 out of 2

‘Role models’ is identified 
as the first creditable point. 
Unfortunately, the description of 
this point is generic and not linked 
to subject choice making it a 
partial answer.

The second point recognises 
that the school and the teachers 
can be responsible for subject 
choice and uses the examples 
of ‘girls subjects’ such as textiles 
to solidify this. There is some 
relevance to the point about 
teacher discouragement but, 
unfortunately, it is then linked with 
careers. This is just enough here 
to score the 2 marks available.
Mark for (b) = 3 out of 4
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Example Candidate Response – high, continued Examiner comments

Page 18 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86215...

This is the first credited point; 
speaking different languages to 
the majority and thus not being 
able to understand learning in 
school.

Teacher labelling and the 
effects of this process on students 
who speak different languages 
(which of course come from 
home) is then introduced. This 
is well explained and very 
sociological in focus.

The final point discusses 
social class and the restricted and 
elaborated code being linguistic 
factors that affect educational 
achievement. This is very well 
explained with examples.

The answer is well focused 
on the question throughout and 
makes good use of sociological 
terms and concepts alongside 
pertinent examples to substantiate 
the points.
Mark for (c) = 6 out of 6

Pre-school attendance and 
having a quiet place to study 
begin the answer.
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Example Candidate Response – high, continued Examiner comments

Page 20 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86215...

An inadequate diet is also 
referenced. Again, a creditable 
point but, like the prior points, 
this is not linked to educational 
success. This makes it a partial 
response.

Again, all the points mentioned 
in this section of the answer are 
material factors and relevant, but 
once more, the response isn’t fully 
developed as no explicit links are 
made to success.

This point about lower class 
students taking part-time jobs is 
much better as it considers the 
impact of this material factor upon 
education.

The final point about university 
admissions is another partial 
response. This isn’t as well linked 
to material factors as it could be.
Mark for (d) = 5 out of 8
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Example Candidate Response – high, continued Examiner comments

Page 22 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86215...

This is an excellent first 
paragraph. It is fully focused 
on the question and links 
functionalism, meritocracy and 
private education effectively. 
Points are also clear and well-
reasoned.

Bourdieu’s concept of ‘cultural 
capital’ is well applied here 
and demonstrates sociological 
engagement.

Whilst not solely linked with 
private education, the candidate 
cleverly uses setting and 
streaming to consider further 
issues with the meritocracy of a 
private education.

Differential access to university 
is a good point and is well linked 
to Marxist criticisms of meritocracy 
and equality. A clear focus 
remains on the question.
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Example Candidate Response – high, continued Examiner comments

Page 24 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86215...

‘However’ clearly signals that 
the candidate is evaluating and 
now considering the other side of 
the debate.

Scholarships within private 
education are a great way of 
demonstrating that private 
education can still be democratic. 
The candidate makes their point 
clearly and succinctly here.

Social mobility and social 
hierarchy become the next 
‘against’ point. Again, these are 
well explained and well linked 
to the question. Sociological 
concepts run throughout the 
answer, adding to the quality.

Another evaluation point is 
introduced here, very different to 
the previous ones. The labelling 
theory is well used alongside the 
self-negating concept. Extremely 
well applied to the question.

Further evaluation points 
are provided here in the form 
of positive discrimination and 
the quality of comprehensive 
education. These are duly 
credited. However, they are not 
fully explained or developed.

A conclusion of sorts ends the 
response. However, this is very 
under-developed and lacks critical 
judgement.
Mark for (e) = 14 out of 15

Total mark awarded =  
30 out of 35
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How the candidate could have improved their answer
•	 (a) The references to positive sanctions were not credited in this answer (see mark scheme). Therefore, the 

candidate was lucky to have included two separate elements in the definition of negative sanctions which allowed 
them to receive the 2 marks available.

•	 (b) The first point made about role models was not linked to subject choice and therefore was only partial. The 
second point about the influence of the school and the teachers was better as it talked directly about girls’ subjects 
such as textiles but, again, the link to school subjects was not as clear as it could have been.

•	 (c) The candidate could have split up the distinct points. Nonetheless, this was a very good response.
•	 (d) There was a good range of points made but these were not all developed and explained adequately. There 

needed to be more explicit links made between educational success and material factors throughout the answer.
•	 (e) The candidate made a great range of points in this answer but not all of them were fully developed – this was 

one area for improvement. It was great to see a conclusion included (necessary for the 15-mark question) but this 
was too short and indicated that the candidate may have run out of time. Working on the conclusion would have 
improved the overall quality of the response.
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Example Candidate Response – middle Examiner comments
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‘Negative outcomes’ is credited 
as a partial definition of sanctions.

References to positive 
outcomes and rewards are not 
credited here.
Mark for (a) = 1 out of 2

Whilst the identified idea of 
‘socialisation’ can be credited, this 
is not linked with subject choice 
so is only awarded 1 mark.

The second point about role 
models is much stronger as it 
uses examples of why girls might 
not choose science to exemplify 
the point made.
Mark for (b) = 3 out of 4

Whilst the candidate does 
make this section relevant later 
in the response, it reads very 
descriptively.
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Example Candidate Response – middle, continued Examiner comments
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This point about the effects of 
social class on language is well 
made and effectively links to how 
that affects perceptions in school.

The second creditable point is 
about ethnic minorities who speak 
a different language at home 
than at school and the issues this 
can cause with succeeding in 
education.

A third point of bilingualism is 
introduced discussing the idea of 
how having multiple languages 
can actually be an advantage 
when it comes to educational 
success.

Good focus on the question 
(home language and educational 
success) throughout.
Mark for (c) = 6 out of 6

Resources are a material factor 
and are introduced for 
different social classes here.
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Example Candidate Response – middle, continued Examiner comments
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Here, the point about resources 
is well developed for the various 
social classes and a good focus is 
kept upon educational 
achievement. Examples are useful 
and well chosen.

 It is difficult to distinguish here 
whether this is a separate point or 
a continuation of the idea about 
resources.

The idea of students 
internalising things and feeling 
a certain way was different to 
the resources point and so was 
credited as such. It is, however, 
repetitive.

The last paragraph is not 
focused on the question and 
thus adds nothing to the mark 
awarded. It is not about material 
factors.
Mark for (d) = 4 out of 8

The first creditable point made 
is ‘for’ the debate and relates 
to some parents being better 
equipped to pay for an education 
than others.
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Example Candidate Response – middle, continued Examiner comments
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The second ‘for’ point is 
different in focus as it focuses 
on private schools being able to 
attract the best teachers and how 
this benefits the students. This 
point is very clearly made.

Here, the candidate makes the 
first evaluation point for the essay; 
the idea of scholarships.

The national curriculum point 
demonstrates good sociological 
knowledge and is used well to 
argue that perhaps education is 
meritocratic after all.

Positive discrimination is 
another valid evaluation point that 
has been duly credited although 
more explanation was needed 
here.

‘Therefore’ clearly signals the 
move into the conclusion part of 
the essay.

The conclusion is relevant and 
well-focused on the question but 
is not well developed and does 
not weigh up the ‘to what extent?’ 
part of the question.
Mark for (e) = 10 out of 15

Total mark awarded = 
24 out of 35
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How the candidate could have improved their answer
• (a) This was a partial response with only one creditable element, ‘negative outcomes’. To improve the answer, the

candidate needed to include two different ideas or to back up the point made with an example.
• (b) The development of the first point (socialisation) needed to link to the question and describe gendered subject

choice.
• (c) The candidate used a descriptive tone at the beginning of the answer. This would have been better if it had

been explicitly linked to and discussed with the cultural capital point.
• (d) There needed to be a wider range of material factors discussed in this answer that were clearly different to one

another. This would have improved the quality of the answer and thus the mark awarded.
• (e) There was a good range of points made by the candidate but not enough to reach the top mark band. More

was needed on the ‘for’ side of the debate. Similarly, not all points were fully developed and a focus on this would
also have improved the answer’s quality. There was a conclusion to the essay, but this was not a critical judgement
and would have benefited from further development. More sociological concepts and engagement would also have
improved the quality of the answer.
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Example Candidate Response – low Examiner comments
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There is some understanding 
shown when the candidate talks 
about being strict and banning 
something. However, this is quite 
vague.
Mark for (a) = 1 out of 2

The candidate identifies male 
and female subject choices here 
as the first point with a clear 
example provided for each.

The second point is not about 
gendered subject choice and 
cannot be credited.
Mark for (b) = 2 out of 4

The candidate uses the key 
term in the question ‘linguistic 
influences’ in their answer here 
but there is no understanding 
shown of what it means.

The answer talks about 
educational success/failure but it 
does not link this to language, so 
no marks are awarded here.
Mark for (c) = 0 out of 6
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Example Candidate Response – low, continued Examiner comments
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There is no need for an 
introduction in a part (d) answer 
as it is not an essay. This 
introduction also introduces a 
number of factors other than 
material ones which are not 
relevant to answering the 
question set.

Private schools and private 
tutors are recognised as factors 
that can improve educational 
success and are correctly linked 
by the candidate to the wealthy/
elite in society.

This continues the discussion 
of private schools and tutors. 
There is nothing new added to the 
discussion.

This conclusion is unnecessary 
and does not focus upon material 
factors and why they can be 
influential in terms of educational 
success.  
Mark for (d) = 3 out of 8
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Example Candidate Response – low, continued Examiner comments
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The first paragraph of 
the essay clearly shows an 
understanding of the functionalist 
theory of education but does not 
mention private education at all.

Similarly, the candidate clearly 
understands Marxism. This is 
rather generic in its content, 
however, rather than being 
used to directly answer the 
question.

Here, the candidate makes 
their first link to private education.

The candidate begins to lose 
focus on the question and instead 
seems to be writing everything 
that they know about each 
sociological theory of education.

The candidate now uses 
feminism to continue arguing that 
education (generally rather than 
private education specifically) is 
not meritocratic.

There is a partial conclusion 
provided here with the return 
to functionalist theory (as per 
the question) but the lack of 
focus on private education here, 
and throughout the essay, is 
problematic.
Mark for (e) = 5 out of 15

Total mark awarded = 
11 out of 35
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How the candidate could have improved their answer
• (a) The answer was vague and not clear enough for 2 marks to have been awarded. Using an example would have 

been a good way of demonstrating a good understanding of the term in the question and would have improved the 
quality.

• (b) The candidate needed to focus more specifically on the question about gendered subject choice.
• (c) As the answer progressed, it became that this candidate did not understand what was meant by ‘linguistic 

influences’. The candidate needed to be much more secure in their sociological knowledge of all aspects of the 
syllabus.

• (d) The candidate demonstrated some knowledge of why material factors can influence educational success 
through the points made about private schools and tutors. More range, explanation, evidence and examples would 
have improved the answer. The unnecessary introduction and conclusion should not have been included.

• (e) The candidate had a good general understanding of functionalist, Marxist and feminist views of education. The 
tone of the essay was clearly not common-sense, it was sociological; hence the answer was placed in Band 2 
rather than Band 1. However, there was too little focus upon the specifics of the question and the majority of the 
answer was not discussing private education.

Common mistakes candidates made in this question
• (a) Candidates should look to include two separate elements in their definition. Examples were a really useful way

of adding a second element to an answer and should be encouraged. Some candidates mistakenly talked about
rewards in their answer, rather than punishments. The syllabus clearly splits these into ‘sanctions’ and ‘rewards’.

• (b) In this part of the question, candidates needed two distinctly different points and candidates should separate
and label these clearly.  Some answers were insufficiently developed, so the candidate was unable to achieve full
marks even although it was evident that they possessed some relevant knowledge. Some candidates failed to link
gender expectations to subject choice in this question, thus, they often only gained marks for identification.

• (c) Candidates needed to make sure there were more than two sociological points made, evidenced and
developed. The weaker responses provided little sociological engagement and presented more common-sense
answers. A few candidates misunderstood the question and focused on various home factors that may impact
educational achievement and not linguistic ones.

• (d) Candidates should adopt the same approach as for (c) but needed to develop ideas further, consider more
range and ensure concepts were used appropriately. Concepts and explicit sociological engagement tended to be
the key differentiator between (c) and (d). Weaker answers offered common-sense and/or vague responses or did
not understand what was meant by ‘material factors’ adequately.

• (e) Candidates needed to organise their answers into paragraphs and develop each idea fully using theory, studies,
examples and/or concepts wherever relevant. They should aim for three points ‘for’ and three ‘against’ the claim
in the question. There also needed to be a well-focused conclusion that made a supported judgement. Weaker
responses presented some undeveloped and/or underdeveloped points and a number of answers made little or
no reference to theory or to meritocracy. A number of candidates did not understand what was meant by the term
‘private education’ or chose not to reference it in their answer, and so failed to answer the question adequately.
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Question 3: Crime, Deviance and Social Control

Example Candidate Response – high Examiner comments
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The candidate links peer group 
with people of the same age.

The second element of the 
candidate’s answer covers these 
people doing the same activities.
Mark for (a) = 2 out of 2

The candidate identifies the 
first point as CCTV (surveillance). 
This is then described in terms of 
how it can reduce crime.

Community policing is the 
second point made, again, with 
useful development linking this to 
deterrence and integration.

The candidate adds a third 
point here ‘stop and search’ with 
no description. This is not credited 
as the earlier points made were 
stronger. If this was not the case, 
however, then the examiner would 
have considered this. Mark for (b) 
= 4 out of 4

The first point made uses 
theory really well and talks about 
differential punishment. This 
is very well developed through 
the reference to ruling class 
law making. Also, great use of 
sociological concepts here.
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Example Candidate Response – high, continued Examiner comments
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The candidate makes a 
different point here about the 
police not recording white-collar 
crimes. This is extensively 
developed through the ideas that 
the police might not be able to 
solve the crime and that other 
organisations exist to deal with 
these crimes.

The candidate makes a third 
discrete point here; that white-
collar crime is often victimless.

The candidate makes a fourth 
point here – criminals paying 
off the police and companies 
not wanting to tarnish their 
reputations. This means that 
white-collar criminals don’t feature 
much in the crime statistics.

This last point is further 
development of point two.
Mark for (c) = 6 out of 6

 A strong start here with the 
references to status and the 
introduction of Cloward and 
Ohlin’s subcultural theory.
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Example Candidate Response – high, continued Examiner comments
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The theory is well developed in 
terms of how and why crime can 
be committed.

Status and youth subcultures 
are the second point made on 
how a lack of status can lead to 
crime.

The candidate identifies 
marginalisation as the third distinct 
point. Lack of opportunities is well 
linked to crime.

Great use of an appropriate 
sociological study here to 
substantiate the point made and 
to introduce linking ideas of social 
class and ethnicity.

The answer is sociological 
throughout and really does 
use theory, concepts, studies 
and terms well to make and 
substantiate points made.  There 
is also a real focus on the 
question. Every point made links 
to both lack of opportunity and the 
committing of crime.
Mark for (d) = 8 out of 8
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Example Candidate Response – high, continued Examiner comments
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The candidate makes the first 
‘for’ point here about functionalism 
and lone parent families.

A second point is made here 
about the working class and their 
distinct value set.

A very clear section on the 
underclass and a lack of role 
modelling. References to Charles 
Murray would have been a useful 
addition here.

Rather colloquial in the use of 
the signal phrase ‘on the lip 
side’. A better phrase would be 
‘alternatively’.

Merton’s strain theory is well 
used to evaluate the notion of 
inadequate socialisation leading 
to crime.
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Example Candidate Response – high, continued Examiner comments
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This is the second evaluation 
point whereby Cohen’s theory of 
status frustration is put to good 
use.

A third evaluation point, 
different again, is the idea of 
relative deprivation rather than 
inadequate socialisation causing 
crime.

The deprivation point is 
successfully developed with the 
additional information from Lea 
and Young and marginalisation.

A fourth evaluation point is 
added here that utilises labelling 
theory.

The conclusion is not 
sufficiently developed. It is likely 
that the candidate ran out of time.

Most impressive in this essay 
is the fact that every point made 
has full or partial development and 
everything is sociological in focus. 
Theory, studies, concepts and 
terms are accurately used and this 
is rewarded.
Mark for (e) = 14 out of 15

Total mark awarded =  
34 out of 35
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How the candidate could have improved their answer
• (a) The candidate included two clear elements in their answer which was the requirement. To improve the answer, 

they could have been clearer about the shared characteristics of a peer group.
• (b) The candidate discussed different policing strategies aimed at reducing crime – CCTV (surveillance) and 

community policing. As these were both developed, 2 marks for each were awarded. The first point, however, could 
have been improved by more explicit reference to the police – it was borderline whether this would be awarded 1 or 
2 marks. The candidate also added a third point at the end – stop and search; there was no problem with this but it 
wasn’t necessary as the question only asked for two.

• (c) The candidate showed excellent knowledge of white-collar crimes and how they are treated differently to other 
crimes. The range of different points made was extensive and these were all developed and well-reasoned. 
Examples were particularly well used by this candidate and Marxist theory and associated concepts ensured that 
full marks were awarded. The only thing the candidate could have considered for improvement was using specific 
white-collar crime cases to act as examples for the points made, e.g. tax evasion.

• (d) This was an excellent response that dealt with three different and relevant points in depth. The section on youth 
subcultures could have been improved with reference to a specific example and to the idea of low status, e.g. Willis 
and ‘the lads’ or Marxist studies of the skinheads.

• (e) This was an excellent answer, particularly in timed exam conditions. In order to improve it, the candidate could 
have worked on the development of points in the ‘for’ section of the essay as this was not as strong as the 
evaluation. Perhaps more sociological theories could also have been referenced here, e.g. Charles Murray (lone 
parent families) and Miller (working class values). However, the more important area that needed development was 
the conclusion. This needed to sum up the arguments made and make a reasoned judgement on whether 
inadequate socialisation does cause crime.



Example Candidate Responses - Paper 2

40

Example Candidate Response – middle Examiner comments
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The first creditable element 
is the reference to a peer group 
being a group of friends.

The candidate includes various 
additional pieces of information 
to ensure they score the second 
mark available, e.g. ‘same age 
group’, ‘identifies himself with’ and 
‘does activities with’.
Mark for (a) = 2 out of 2

The question asks specifically 
about police strategies and thus 
imprisonment cannot be credited 
here as the description is wholly 
generic and not related to the 
police specifically.

Similarly, ‘tagging’ is not a 
police specific strategy and 
therefore is not credited. Both 
points are more about sentencing/
control than police strategies to 
reduce crime.
Mark for (b) = 0 out of 4

The first paragraph indicates 
that the candidate knows what 
white-collar crime is but is not 
answering the question.  An 
introduction such as this is not 
necessary.

Here is the first credited point, 
that white-collar crimes are not 
reported. The section below then 
goes on to describe how this 
works, e.g. reporting perceived as 
a waste of time.

Dealing with matters ‘in-house’ 
is the second credited point.
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Example Candidate Response – middle, continued Examiner comments
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The candidate’s answer does 
not make it explicitly clear whether 
these are two distinct points. 
Benefit of the doubt is given as 
there is a clear line of argument 
about reporting being a waste of 
time plus companies dealing with 
white-collar crimes themselves.
Mark for (c) = 4 out of 6

A good start to the answer 
here with the early introduction 
of Merton’s theory and its links to 
lack of opportunity.

 In this paragraph the candidate 
shows good understanding of 
Merton’s theory, but it is rather 
descriptive.

This is a more in-depth 
discussion of Merton’s theory, 
although it is descriptive in tone.

Up to this point, the only 
explanation considered by the 
candidate (albeit in a great deal of 
detail) is Merton’s.
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Example Candidate Response – middle, continued Examiner comments
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Here, the candidate makes  
a different second point, that of 
social class.

This is a good explanation of 
how the different social classes 
have very different opportunities 
but unfortunately no links are 
made to why this may lead to 
crime. This is therefore credited 
as a partial point.
Mark for (d) = 5 out of 8

The first ‘for’ point discusses in 
some detail the idea that lone-
parent families may be associated 
with crime due to inadequate 
socialisation processes. The 
work of Charles Murray could be 
referenced here to substantiate 
the point.

The second ‘for’ point is not 
as strong as the first. It is rather 
vague and not well developed.  
Even if the candidate could not 
think of an appropriate study or 
theory to substantiate the point 
made, discussion of role modelling 
and/or giving some examples 
would be good practice.
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Example Candidate Response – middle, continued Examiner comments
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A good ‘against’ point to lead 
with here with the concept of 
material deprivation and how 
this, rather than inadequate 
socialisation, can lead to crime.

Despite the candidate’s use 
of the word ‘furthermore’, this 
section on relative deprivation 
was all credited alongside the 
point on deprivation and used to 
strengthen its development.

Cohen’s theory of status 
frustration makes a good second 
evaluation point and is well 
discussed here as an explanation 
for crime.

The third evaluation point 
makes good use of Becker’s 
labelling theory as a viable 
explanation for crime. The 
inclusion of linked concepts 
worked particularly well.
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Example Candidate Response – middle, continued Examiner comments
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Finally, the last evaluation
 point considers masculinity as a 
reason for crime through peer 
pressure, living up to the 
‘macho’ stereotype and the 
thrills. Again, this is wholly 
sociological in focus.

A good conclusion with some 
development and sense of a 
judgement being made brings the 
essay to a close.

Despite the imbalance between 
the range and development of the 
‘for’ and ‘against’ arguments in 
this essay, what is impressive is 
the sociological focus and use of 
theory and concepts throughout.
Mark for (e) = 11 out of 15

Total mark awarded = 
22 out of 35

How the candidate could have improved their answer
• (a) The candidate covered more than two distinct elements in the definition that were accurately linked to the peer

group.
• (b) The candidate described imprisonment and tagging in a generic way rather than focusing on specific police

strategies used to reduce crime. There needed to be much more focus on the wording of the question here.
Policing strategies feature as a discrete point in the syllabus and therefore answers that related to the police were
expected, e.g. arrest, stop and search, targeting, surveillance, etc.

• (c) There was an insufficient range of points made in this answer; the candidate needed to include three different
ideas. However, the two credited (not being reported and dealt with ‘in-house’) were done quite well. The candidate
should have signalled them as different points, e.g. ‘My second point is…’. More use of explicit sociological
concepts/terms/theory would also have improved the answer’s quality.

• (d) The candidate has not made distinct points in their answer and this has led to a lack of range overall. The
Merton section was excellent (if somewhat descriptive) but it was impossible for the examiner to credit it as
anything other than one very well-developed point. The second point on social class was also credited but did not
fully develop itself as it did not discuss the committing of crime. The candidate needed more focus on the specific 
wording of the question.

• (e) The ‘for’ side of the argument was not as strong as the ‘against’. There were only two points made and the
second was very brief and rather vague. The candidate needed to balance their discussion out better in order
to improve as this prevented them scoring in the top band. The use of sociology that ran throughout the essay,
however, ensured that the candidate scored in the top half of Band 3.
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Example Candidate Response – low Examiner comments
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No marks are awarded for 
this definition because of the 
error made by the candidate who 
claimed that it was about ‘people 
deemed in a relationship’. This 
is incorrect; therefore, benefit of 
the doubt was not given for the 
reference to ‘friendly’, particularly 
because it was combined with ‘or 
intimate’.
Mark for (a) = 0 out of 2

Surveillance is accurately 
identified as a police strategy and 
the examples provided (tracking 
phone calls and CCTV) develop 
this.

Both points are about police 
surveillance and are credited as 
one developed point.
Mark for (b) = 2 out of 4

The first point recognises that 
white-collar crimes are perceived 
to be less serious than other kinds 
of crimes.

The development of the point 
is the list of examples as well as  
the recognition that it’s lack of 
physical harm is the reason for it 
being treated differently. Implicit 
reference is also made to lesser 
sentencing at the end of the 
answer.
Mark for (c) = 2 out of 6

The first point links lack of 
opportunity to education with 
some development. However, it is 
quite simplistic and there is little 
sociological engagement here.
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Example Candidate Response – low, continued Examiner comments
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A second point is made here 
about low social status. However, 
this is only stated; there is no 
development or explanation 
relating to this.
Mark for (d) = 3 out of 8

Here, the candidate begins 
to make a relevant point on 
socialisation.

This paragraph is not useful in 
terms of answering the question 
as it is wholly descriptive and 
does not link any of the agencies 
of socialisation with crime.
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Example Candidate Response – low, continued Examiner comments
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This is another indication of 
a relevant point and the use of 
norms and values makes this 
sociological in tone.

This point is merely stated. 
There is no substantiation or 
explanation.

As the candidate moves on 
to end the conclusion section, it 
becomes apparent that this is not 
an essay. There is no evidence 
to suggest that inadequate 
socialisation is not a reason for 
crime has been presented.

Rather than being a 
conclusion, this section merely 
repeats what the candidate has 
previously said.

The answer is simplistic and 
common-sense in tone throughout 
with few relevant ideas presented.
Mark for (e) = 2 out of 15

Total mark awarded = 
9 out of 35
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How the candidate could have improved their answer
•	 (a) The candidate did not have an accurate enough definition of a peer group and was not awarded any marks for 

this question. To improve, they needed to ensure that all key terms from the syllabus were learnt.
•	 (b) Despite the candidate having claimed that ‘there are many strategies…’, everything written about here was the 

same core point – surveillance. Examples were included which helped to develop that point but a different police 
strategy needed to be discussed.

•	 (c) The credited point linked white-collar crime to it not being seen as the worst kind of crime because it is not 
violent or perceived to be harmful to others. There were no other points provided and, thus, the candidate could not 
score more than 2 marks. More reasons needed to be given, evidenced and explained.

•	 (d) The candidate made two different points in the answer – education and status. However, there needed to be 
more development and explanation of both in terms of how the lack of opportunity could manifest itself as crime. 
The second point was only stated; no explanation was given.

•	 (e) The candidate needed greater focus upon the question in order to improve their mark here. The candidate 
simply described agencies of socialisation rather than focusing upon how inadequate socialisation could lead 
to crime. Very little sociological knowledge and understanding was evident in the response. There were also no 
‘against’ points discussed or considered.

Common mistakes candidates made in this question
•	 (a) Candidates needed to include two separate elements in their definition. Examples were a useful way of adding 

a second element to an answer and are thus to be encouraged. The majority of candidates scored at least 1 mark 
here but often needed more detail to be awarded the 2 marks available.

•	 (b) This part of the question needed two distinctly different points – candidates should separate these and label 
them clearly. Some answers were insufficiently developed, so the candidate was unable to achieve full marks even 
although it was evident that they possessed some relevant knowledge.

•	 (c) Candidates needed to make sure there were more than two sociological points made, evidenced and 
developed. Whilst many of the responses offered developed points, the weaker ones were somewhat general in 
their focus on ‘white-collar crime’ and didn’t adequately focus on the ‘how’ part of the question. This reduced the 
number of marks that could be awarded.

•	 (d) Candidates should adopt the same approach as for (c) but develop ideas further, consider more range and 
ensure concepts/theory/studies are used appropriately. Concepts and explicit sociological engagement tended 
to be the key differentiator between (c) and (d). Weaker answers offered common-sense information with limited 
sociological engagement. There was often only implicit focus on a ‘lack of opportunity’ leading to crime and 
sociological theories and explanations were not engaged with adequately.

•	 (e) Candidates needed to organise their answers into paragraphs and develop each idea fully using theory, studies, 
examples and/or concepts wherever relevant. They should aim for three points ‘for’ and three ‘against’ the claim in 
the question. There also needed to be a well-focused conclusion that made a supported judgement. A number of 
answers offered general and less sociologically engaged responses to the question.
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Question 4: Media

Example Candidate Response – high Examiner comments
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A good definition is provided 
here with reference to under-
representation and not appearing 
or being rarely talked about.

The example is a pertinent one 
and adds further support to the 
definition provided.
Mark for (a) = 2 out of 2

The first point identified is 
desensitisation (good use of a 
sociological term here) and this 
is then described with relevant 
examples.

This second point is an 
unusual one but was credited 
by the examiner. The idea that 
a collective societal response to 
deviance being portrayed as bad 
can lead to more reprimands for 
criminal behaviour is relevant and 
was therefore rewarded. This is a 
good example of an answer that 
falls into the ‘other reasonable 
response’ category in the mark 
scheme.
Mark for (b) = 4 out of 4

The first creditable point is 
the idea of the working class 
being under-represented in the 
media. However, this point is not 
developed.

There’s a hint of an idea about 
the working class being shown as 
hard working but it is mixed in with 
other ideas, making it difficult to 
follow. Again, there is no evidence 
or development for this point and 
it is common-sense rather than 
sociological in focus.
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Example Candidate Response – high, continued Examiner comments
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The third point made is that 
the working class are shown 
negatively. There is a little 
discussion of this but it is not 
sociological in focus.

 It is not really clear what point 
the candidate is making here.
Mark for (c) = 3 out of 6

A point about affordability is 
introduced here but, at this stage, 
nothing further is done with it by 
the candidate.

A good point is now introduced 
about the fast-changing nature 
of digital technology and the 
problems this can cause older 
people. This is well explained 
and uses good examples (such 
as online newspaper revolution). 
Alongside this is a sociological 
tone to the discussion, through 
use of concepts such as the 
generation gap.

Here, the candidate returns to 
a point about cost and availability 
to the poor.

The use of specific examples 
in this answer is really good. The 
contrast between the student 
working in the library ‘vs’ flexible, 
online home study is well made.
Mark for (d) = 5 out of 8
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Example Candidate Response – high, continued Examiner comments
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A great start to the essay,  
getting straight into the Marxist 
view of the media being owned by 
only a few large companies. Also, 
good use of sociological terms 
and concepts are made.

This is a pertinent example to 
substantiate the first Marxist point.

The second point made by 
the candidate makes good use 
of appropriate media effects 
theories.

In this second point, a clear 
link is made to how the media 
can influence the views of the 
audience through its bias and 
distortion.
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Example Candidate Response – high, continued Examiner comments
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The candidate makes a third 
point which does have some 
overlap with what has been 
said earlier but is expanded to 
introduce the notion that the 
media can be used to maintain the 
‘status quo’ for the powerful and 
suppress radical views.

Whilst a relevant point 
could have been made about 
advertising, the candidate does 
not take the opportunity.

A clear signalling paragraph 
here indicates that the answer 
is now moving into its evaluation 
phase.

Pluralist theory is introduced to 
begin the evaluation of Marxism. 
This maintains the strong 
sociological feel to this piece of 
extended writing.

Narrowcasting is a great 
example that challenges the 
Marxist view of the media and is 
well linked to pluralism here. An 
example could also have been 
added to really substantiate the 
point made.

The next evaluation point uses 
a different theory, Postmodernism, 
to challenge the Marxist views. 
However, this is not very well 
developed.
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Example Candidate Response – high, continued Examiner comments
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This is a very strong point 
and paragraph that makes great 
use of both media theory (uses 
and gratifications) alongside 
sociological concepts (citizen 
journalism, power). These are 
directly used to challenge Marxist 
assumptions.

A reasonable conclusion is 
provided to end the essay that 
begins to make a judgement 
on the views the candidate has 
expressed. It is quite vague in 
places and could have been more 
convincing in its application to the 
‘To what extent...’ aspect of the 
question.
Mark for (e) = 13 out of 15

Total mark awarded = 
27 out of 35

How the candidate could have improved their answer
• (a) The candidate included two clear elements in their answer which was the requirement. To improve the answer,

they could have been clearer about the shared characteristics of a peer group.
• (b) The candidate discussed different policing strategies aimed at reducing crime – CCTV (surveillance) and

community policing. As these were both developed, 2 marks for each were awarded. The first point, however, could
have been improved by more explicit reference to the police – it was borderline whether this would score 1 or 2
marks. The candidate also added a third point at the end – stop and search; there was no problem with this but it
wasn’t necessary as the question only asked for two.

• (c) The candidate showed excellent knowledge of white-collar crimes and how they are treated differently to
other crimes. The range of different points made was extensive and these were all developed and well-reasoned.
Examples were particularly well used by this candidate and Marxist theory and associated concepts ensured that
full marks were awarded. The only thing the candidate could have considered for improvement was using specific
white-collar crime cases to act as examples for the points made, e.g. tax evasion.

• (d) This was an excellent response that dealt with three different and relevant points in depth. The section on youth
subcultures could have been improved with reference to a specific example and to the idea of low status, e.g. Willis
and ‘the lads’ or Marxist studies of the skinheads.

• (e) This was an excellent answer, particularly in timed exam conditions. In order to improve it, the candidate
could have worked on the development of points in the ‘for’ section of the essay as this was not as strong as the
evaluation. Perhaps more sociological theories could have been referenced here too, e.g. Charles Murray (lone
parent families) and Miller (working class values). However, the more important area that needed development
was the conclusion. This needed to sum up the arguments made and make a reasoned judgement on whether
inadequate socialisation does cause crime.
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Example Candidate Response – middle Examiner comments
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The ‘at the back of the eyes’ 
comment, is a good definition 
of invisibility.

Ethnic minorities and females 
are both good examples to use to 
support the definition and are duly 
rewarded.
Mark for (a) = 2 out of 2

We can see the identified point 
is portraying violence in the media 
as cool.

The ‘cool’ point is then partially 
developed and linked to how this 
can influence levels of violence 
in society. It is not particularly 
sociological in focus, however, 
and would benefit from an 
example.

This second point is not clear 
at all but hints that violence in 
the media can be associated 
with strength. This coupled with 
the partially developed first 
point is enough for 2 marks to 
be awarded.
Mark for (b) = 0 out of 4

This introduction is not 
necessary and does not gain 
the candidate any marks as it 
is not answering the question.
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Example Candidate Response – middle, continued Examiner comments
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The first point is made here 
about negative representations 
being shown as inferior.

Another point is made here, 
again focusing on a negative 
representation. It considers 
how the working class can 
be portrayed as dirty and as 
struggling.

The point is made about the
working class being shown as 
unable to help themselves escape 
from their problems.

The answer makes three 
different points (with some 
overlap) but the development of 
these is partial and there is a lack 
of sociological engagement and 
terminology throughout.
Mark for (c) = 4 out of 6

A valid point is made here 
about there being a digital divide 
because of economic inequalities.

Unfortunately, this part of the 
answer moves into areas that 
are not focused on the question. 
The tone becomes very common-
sense.
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Example Candidate Response – middle, continued Examiner comments

Page 18 of 25Print Script

25/01/2021https://ca-ai.assessor.rm.com/tools/CandidateEnquiry/PrintDocument.aspx?CSID=86216...

The discussion here of 
Government schemes that helped 
to close the economic gap is not 
relevant to the question and is not 
credited.

 The answer has moved into 
description and no longer answers 
the question. It is only point one at 
the beginning that is relevant and 
creditable.
Mark for (d) = 5 out of 8

The candidate makes a good 
first point here about the media 
being used to support the higher 
classes in disseminating their 
distorted ideologies.

Nice use of a relevant concept 
here (instant gratification) linked 
appropriately to the working class 
and their media consumption.
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Example Candidate Response – middle, continued Examiner comments
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The Marxist idea of 
propaganda in the media is 
introduced and discussed.

Whilst the points made 
are true, the candidate needs 
examples or evidence to 
substantiate them as they are a bit 
vague.

The Marxist idea of 
suppressing the working class to 
reduce competition for privileges 
in society is further discussed 
here, picked up on from earlier in 
the essay.

This last section takes the form 
of a conclusion as it attempts to 
address the question. However, 
this has limited success because 
there have been no opposing 
views presented within the essay. 
The only theory considered and 
discussed has been Marxism. It is, 
therefore, a one-sided response.
Mark for (e) = 11 out of 15

Total mark awarded =  
22 out of 35
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How the candidate could have improved their answer
•	 (a) The candidate covered more than two distinct elements in the definition that were accurately linked to the peer 

group.
•	 (b) The candidate described imprisonment and tagging in a generic way rather than focusing on specific police 

strategies used to reduce crime. There needed to be much more focus on the wording of the question here. 
Policing strategies feature as a discrete point in the syllabus and therefore answers that related to the police were 
expected, e.g. arrest, stop and search, targeting, surveillance, etc.

•	 (c) There was an insufficient range of points made in this answer; the candidate needed to include three different 
ideas. However, the two credited (not being reported and dealt with ‘in-house’) were done quite well. The candidate 
should have signalled them as different points, e.g. ‘My second point is…’. More use of explicit sociological 
concepts/terms/theory would also have improved the answer’s quality.

•	 (d) The candidate has not made distinct points in their answer and this has led to a lack of range overall. The 
Merton section was excellent (if somewhat descriptive) but it was impossible for the examiner to credit it as 
anything other than one very well-developed point. The second point on social class was credited also but did not 
fully develop itself as it did not discuss the committing of crime. The candidate needed more focus on the specific 
wording of the question here.

•	 (e) The ‘for’ side of the argument was not as strong as the ‘against’. There were only two points made and the 
second was very brief and rather vague. The candidate needed to balance their discussion out better in order 
to improve as this prevented them scoring in the top band. The use of sociology that ran throughout the essay, 
however, ensured that the candidate scored in the top half of Band 3.
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Example Candidate Response – low Examiner comments
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‘Not giving much attention 
to’ is enough here for a partial 
definition (1 mark). There is no 
further second example provided 
and there is a sense of vagueness 
to the answer, meaning that 
this would not count as a ‘clear 
definition’ (as per the mark 
scheme).
Mark for (a) = 0 out of 2

This response does not 
demonstrate any understanding 
of how violence in the media can 
cause violence in society and was 
not awarded any marks.
Mark for (b) = 2 out of 4

A good start is made with the 
link to Marxist theory and the 
recognition of the working class 
being portrayed as ‘wage slaves’. 
However, this is merely stated. 
No evidence or discussion of the 
point is provided at all.

A second point is made that 
the working class are shown to be 
bad and poor. Again, this is not 
developed.

Finally, the candidate asserts 
that the working class are 
represented as criminals. This is 
again just stated as fact.
Mark for (c) = 2 out of 6

This is all very confused and 
does not explain why there is a 
digital divide.
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Example Candidate Response – low, continued Examiner comments
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As the answer progresses, it 
becomes increasingly apparent 
that the candidate does not 
understand what this concept 
means or why it has come about. 
There is nothing in the answer 
that the examiner can credit.
Mark for (d) = 3 out of 8

  
The candidate produces one 
paragraph which lacks clear 
structure and which makes it 
difficult to determine where 
different points begin and end.

There is a creditable point 
made here about the media being 
in favour of the capitalist.

 In this section of the response, 
the candidate starts to develop the 
idea of the media favouring higher 
social classes. However, it is a 
little confused.

The answer is starting to lose 
focus.

This section of the essay is 
very confused and indicates that 
the candidate does not have a 
good grasp of Marxist views of the 
media.

There is no consideration of 
alternative views to Marxism. 
Therefore, the essay is one-
sided. The level of repetition and 
confusion indicates that this is 
limited knowledge.
Mark for (e) = 2 out of 15

Total mark awarded = 
9 out of 35
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How the candidate could have improved their answer
•	 (a) The candidate did not have an accurate enough definition of a peer group and was not awarded any marks for 

this question. To improve, they needed to ensure that all key terms from the syllabus were learnt.
•	 (b) Despite the candidate having claimed that ‘there are many strategies…’, everything written about here was the 

same core point – surveillance. Examples were included which helped to develop that point but a different police 
strategy needed to be discussed.

•	 (c) The credited point linked white-collar crime to it not being seen as the worst kind of crime because it is not 
violent or perceived to be harmful to others. There were no other points provided and thus the candidate could not 
score more than 2 marks – more reasons needed to be given, evidenced and explained.

•	 (d) The candidate made two different points in the answer – education and status. However, there needed to be 
more development and explanation of both in terms of how the lack of opportunity could manifest itself as crime. 
The second point was only stated, no explanation.

•	 (e) The candidate needed greater focus upon the question in order to improve their mark here. The candidate 
simply described agencies of socialisation rather than focusing upon how inadequate socialisation could lead 
to crime. Very little sociological knowledge and understanding was evident in the response. There were also no 
‘against’ points discussed or considered.

Common mistakes candidates made in this question
•	 (a) Candidates needed to include two separate elements in their definition. Examples were a useful way of adding 

a second element to an answer and are thus to be encouraged. The majority of candidates scored at least 1 mark 
here but often needed more detail to get the 2 marks available.

•	 (b) In this part of the question, candidates needed two distinctly different points – candidates should separate these 
and label them clearly. Some answers were insufficiently developed, so the candidate was unable to achieve full 
marks even although it was evident that they possessed some relevant knowledge.

•	 (c) Candidates needed to make sure there were more than two sociological points made, evidenced and 
developed. Whilst many of the responses offered developed points, the weaker ones were somewhat general in 
their focus on ‘white-collar crime’ and didn’t adequately focus on the ‘how’ part of the question. This reduced the 
number of marks that could be awarded.

•	 (d) Candidates should adopt the same approach as for (c) but develop ideas further, consider more range and 
ensure concepts/theory/studies are used appropriately. Concepts and explicit sociological engagement tended 
to be the key differentiator between (c) and (d). Weaker answers offered common-sense information with limited 
sociological engagement. There was often only implicit focus on a ‘lack of opportunity’ leading to crime and 
sociological theories and explanations were not engaged with adequately.

•	 (e) Candidates needed to organise their answers into paragraphs and develop each idea fully using theory, studies, 
examples and/or concepts wherever relevant. They should aim for three points ‘for’ and three ‘against’ the claim in 
the question. There also needed to be a well-focused conclusion that made a supported judgement. A number of 
answers offered general and less sociologically engaged responses to the question.
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